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1) Theslope of alineuis 5 and is parallel to the line v which passes through the point
(-4, =2). Which of the following represents the equation of the line v?
a) 5x+y=18 b) 5x-y=-18 c) 5x-5y=18 d) 5x-y=15
2) Which of the following line passes through the point (-5, 8) has the slope 4?
a) 4x-y=28 d) 4x-y=-28
3) Which of the follc PRE V IEW 2) and (5,-1)?
a) x-y=3 Gain complete access to the largest d) —x+y=6
4) Identify the equafiCollection of worksheets in all subjects!B-intercept as -8
and 9.
a) 9x-8y=-72 d 9x+8y=-72
5) Which of the foll¢ 527
a) 2x+ y=4 www.mathworksheets4kids.com d 2x- y=>
6) The slope ofalin 1tify the equation of
the line m that passes through the point (-6, -4).
a) x-8y=8 b) x+8y=-38 c) 8x-y=38 d 8x-y=8
7) Identify the line that is perpendicular to the line x + y + 6 = 0 and passes through
the point (3, 5).
a) x+y=2 b) -x-y=8 Q) x-y=-2 d x-y=-7
- J

Printable Math Worksheets @ www.mathworksheets4kids.com



